
STABILITY 

777 NE 2ND ST. SUITE 280
P.O. BOX 2646
CORVALLIS, OR 97339
TEL.: (541)223-5360  

ENGINEERING INC.

LOADING COVER SECTION

BEAM ANCHORAGE DETAIL COLUMN ANCHORAGE DETAIL

LOADING COVER SECTION
SCALE: 3/8" = 1'-0"

SCALE: 1 1/2" = 1'-0" SCALE: 1 1/2" = 1'-0"

SCALE: 3/8" = 1'-0"

D DD

C

A

C D

B

S3.2 S3.2S3.2

S3.2

S3.2

S3.2 S3.2

S3.2

1

A

  sheet number

revisions

2 - plan review

3 - plan review

4 - plan review

05/15/2023

07/10/2023

07/31/2023

project number

date

W
1

1
TH

 &
 W

IL
LO

W
 C

R
E
E
K

E
U

G
E
N

E
, 

O
R

E
G

O
N

 9
7

4
0

2

W
IL

C
O

 E
U

G
E
N

E

SECTIONS

S3.2

22-0690

12/19/2022

2
0

0
 I
N

D
U

ST
R

IA
L 

W
A

Y

M
T.

 A
N

G
E
L,

 O
R

 9
7

3
6

2

W
IL

C
O

1/8" = 1'-0"

16840 6"106"206"6" 0 240400 4 8

1/4" = 1'-0" 3/8" = 1'-0" 1/2" = 1'-0" 3/4" = 1'-0" 1" = 1'-0" 1-1/2" = 1'-0" 3" = 1'-0"

2 3 4 5 6

B

C

D

E

0

8380 SW NYBERG ST.
SUITE B 

TUALATIN, OR 97062
P 503.352.4987

www.novakarchitecture.com

5/8" CDX PLYWOOD W/ 
10d @ 6" O.C. ON ALL 
SUPPORTED PANEL 
EDGES & 12" O.C. IN FIELD. 

5/8" CDX PLYWOOD W/ 
10d @ 6" O.C. ON ALL 
SUPPORTED PANEL 
EDGES & 12" O.C. IN FIELD. 

5/8" CDX PLYWOOD W/ 
#10 SCREWS @ 6" O.C. 
ON ALL SUPPORTED PANEL 
EDGES & 12" O.C. IN FIELD. 
SEE BLOCKING DETAIL C-S0.0

ECCOQ6-SDS2.5
OR EQUIVALENT
(WELD TO COLUMN
W/ 3/16" FILLET 
WELDS) SEE PLAN FOR 

BEAM SIZE

H2.5 CLIP EA. END 
OF TRUSS TO
BEAM (TYP.)

CMU WALL "B"
PER THE PLANS
(SEE CMU WALL
SCHEDULE)

CMU WALL "B"
PER THE PLANS
(SEE CMU WALL
SCHEDULE)

CMU WALL "B"
PER THE PLANS
(SEE CMU WALL
SCHEDULE)

MANUFACTURED TRUSSES @ 24" O.C.

(BY OTHERS)

P.T. 2X6 LEDGER W/ 3/4" 
TITEN HD'S @ 12" O.C.
(MIN. EMBED = 6")
NOTE: LEDGER MAY 
BE DF IF PROTECTED
W/ 30# FELT. 

ECCOQ6-SDS2.5
OR EQUIVALENT
(WELD TO COLUMN
W/ 3/16" FILLET 
WELDS)

ECCOQ6-SDS2.5
OR EQUIVALENT
(WELD TO COLUMN
W/ 3/16" FILLET 
WELDS)

HUC612 OR EQ. HUC612 OR EQ.

MANUFACTURED TRUSSES
@ 24" O.C. (BY OTHERS)

SEE PLAN FOR
BEAM SIZE

SEE PLAN FOR
BEAM SIZE

SEE PLAN FOR
BEAM SIZE

600S162 43 MIL 
STUDS @ 16" O.C.

H2.5 CLIP (TYP.) H2.5 CLIP (TYP.)

12"

5 5/8"

1/4" STEEL
SIDE PLATES

3/8" STEEL 
BACK PLATE

3/8" STEEL
BASE PLATE

2"2" 2"2" 4"

2"

2 1/2"

2 1/2"

2 1/2"

2 1/2"

2 1/2"

1
6

"

(12) 5/8" TITEN HD'S
W/ 6" EMBED MIN.

(12) 5/8" TITEN HD'S
W/ 6" EMBED MIN.

5 1/2"

5 7/8"

1
6

"

(18) 1/4" X 2 1/2" SDS 
SCREWS (EA. SIDE)

1/4 TYP.

8"

8
"

5"

2 1/2"
1 1/8" OFFSET

1 1/8" OFFSET(3) 16" LONG #6
BARS (A706) 
(WELDABLE)

1/2" STEEL EMBED
PLATE (TOP FLUSH
W/ CMU)

ATTACH HSS TO PLATE
W/ 1/4" FILLET WELDS
ALL AROUND

ATTACH P.T. 4x8 W/
1/2" X 12" SILL BOLTS
@ 48" O.C. (TYP.)
(MIN. EMBED: 7")

NOTE: THE DETAIL SHOWN IS FOR THE 
RIGHT SIDE BEAM AT THE CORNER OF
THE STRUCTURE. THIS DETAIL IS TO BE
MIRRORED FOR THE LEFT SIDE BEAM. 

5
"

2
 1

/2
"

1
2

"

2
 1

/2
"

12"

2 1/2"

FREE VENTILATING AREA 
REQUIRED FOR SPACE IS 1/150TH
OF THE AREA OF ENCLOSED SPACE

FREE VENTILATING AREA 
REQUIRED FOR SPACE IS 1/150TH
OF THE AREA OF ENCLOSED SPACE

07/31/2023

ATTACH TRACK W/
#10 SELF TAPPING
SCREWS @ 8" O.C. ATTACH TRACK W/

#10 SELF TAPPING
SCREWS @ 8" O.C.

ATTACH TRACK W/
#10 SELF TAPPING
SCREWS @ 8" O.C.

ATTACH TRACK W/
(2) #10 WOOD 
SCREWS @ 4" O.C. 
(MIN. EMBED = 2")

FULL HEIGHT TRUSS
BLOCKING OR SOLID
BLOCKING 

FULL HEIGHT TRUSS
BLOCKING OR SOLID
BLOCKING 

5/8" CDX PLYWOOD ON W/ 
#10 SCREWS @ 2" O.C. 
ON ALL SUPPORTED PANEL 
EDGES & 12" O.C. IN FIELD. 
SEE BLOCKING DETAIL C-S0.0

SIMPSON SSTB28 BOLT

600S162 54 MIL
(BACK TO BACK)

600S162 43 MIL 
STUDS @ 16" O.C.

ATTACH TRACK W/
1/2" x 10" SILL BOLTS @ 32" O.C. 
OR 
5/8" x 8" TITEN HD'S @ 32" O.C.

ATTACH TRACK W/
(2) #10 WOOD 
SCREWS @ 16" O.C. 
(MIN. EMBED = 2")

5/8" CDX PLYWOOD ON W/ 
#10 SCREWS @ 2" O.C. 
ON ALL SUPPORTED PANEL 
EDGES & 12" O.C. IN FIELD. 
SEE BLOCKING DETAIL C-S0.0

5/8" CDX PLYWOOD W/ 
#10 SCREWS @ 6" O.C. 
ON ALL SUPPORTED PANEL 
EDGES & 12" O.C. IN FIELD. 
SEE BLOCKING DETAIL C-S0.0

5/8" CDX PLYWOOD ON W/ 
#10 SCREWS @ 2" O.C. 
ON ALL SUPPORTED PANEL 
EDGES & 12" O.C. IN FIELD. 
SEE BLOCKING DETAIL C-S0.0

SIMPSON S/HD8
W/ (17) #14 SCREWS

5/8" CDX PLYWOOD W/ 
10d @ 6" O.C. ON ALL 
SUPPORTED PANEL 
EDGES & 12" O.C. IN FIELD. 

LTT20B W/ 3/4" TITEN HD 
(MIN EMBED = 6") @ 48"
O.C. 

2X BLOCKING
@ LTT20B

STRAP BLOCKING 
TOGETHER W/ 
LSTA18 STRAP TIE

ATTACH TRACK W/
1/2" x 10" SILL BOLTS @ 48" O.C. 
OR 
5/8" x 8" TITEN HD'S @ 48" O.C.

R
ec

ei
ve

d 
by

 C
ity

 o
f E

ug
en

e:
 0

6_
S

3.
2 

S
E

C
T

IO
N

S
 -

 0
8/

01
/2

02
3,

 1
0:

24
:3

8 
A

M
R

ev
ie

w
ed

 fo
r 

C
od

e 
C

om
pl

ia
nc

e 
 -

  0
8/

18
/2

02
3 

 3
:3

2:
15

 P
M

 P
er

m
it 

N
um

be
r 

- 
23

-0
16

79
-0

1


